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S - XI First Term Examination 2021-22 Marks - 50
Sub - Mathematics (40) Time - 2.30 Hrs.
: SECTION : A

Q.1 Select and write the Most appropriate answer from the (10)
given alternatives

1) The radian measure of 260° is

"M 13 m 11m
=3 s Gl LY
2) The 10" term ofG.Pi —% 1-2... is
A) 10 1 B -
) 1024 B) C) — 128 bj—

128
3)If z =3 - 5iis any complex number then Z is

A) Z = -3 4 5 B)Z = -3 —5;
C)Z =345 D)Z =5i +2

4)1fsinf = <0 gnd tan6 > 0then 6 lise in

A) First Quadrant
C) third quadrant

B) second quadrant

D) four th quadrant

e a2 o
5)1f sin6 = 2o and Olise in the second quadrant, then the
value of sec — tan g is
2

A): B)Z €) -2 py =S

Q.2 Answer the following question

3) Evaluate ;2™
: ; szi +sin2%+ sinzz
4) Find (i)3*5 3

(1)

e

2890 save our number as *Sahaj Adhyayan* ... & message us on WhatsApp...

Hi



Design
Text Box
This Question paper shared by Prafull from Ahmednagar, Thanks Prafull.


SECTION : - B

Attempt any EIGHT of the following (16)

Q.3 Convert in to radian measure280° ,270° 900 20°

Q. 4Find the all possibale value of sin® if 6sin®0 —2sinf +4=0

Q.5 Express the complex number in the polar form 7= 1+ V/3i
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Q.6 Find the cartesian cordinate of the point whose polar

cordinate are (2 ,60°)

Q.7 Find S, of G.P is 4,8,16, B2, ses uis 4t

Q.8 Check whether the sequence is G.P Find First term and common ratio

3,6,12,24 ...

Q.9 Simplify v—9 +3v-16+ V—49 — V=25

Q.10 Find the modulus and amplitude of Z=6-2i

Q.11 w is complex cube root of unity then sho that (2-w) (2-w?) =7

Q12 InAMBC M <A=7% and M < B = 60° find the M < Cin

degree and radian

Q.13 The sum of two angle is o and their dif france is 60° find

the angle indegree

SECTION: -0

Attempt any FOUR from the following (12)

Q.14 Find the three numbers in G.P such that their sum is 21 and sum

of the square is 189
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n<0< then find all trignometric ratio

vl w

Q.141f cos 8 =

Q.15 Eliminate 8 x = asec@ y=btanf

Q.16 Express the angle (321.9)° in degree minuit and second

Q.17 Express the complex number in the forma +ib

;= 4+2i
= (2+0)(3-i)
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Ql18Ifwis complex cube root of unity then show that

wi+w+1=0

Q.19/f cos 6 = % n<f< %’5 then find all trignometric ratio

SECTION:-P

(08)

Attempt any TWO from the following

0 Find the sum of the nth termof

Q.2
G.P04+ 0.44 + 0.444 +0.4444%......
plex cube root of unity then prove

Q21lfa and p are com

that a®+ p? + 2ap=0
¢ ratio of angle in standerd whose

[ the trl’gnomvtri
(2,-10)

Q. 22Find al
m passes through

tcrmmal ar
t sumof middle two

Q24 Find the four number in G. P such tha
number islg and their product 1S 1

1.

s ste ok s

}
(3)

7 ) ) ) .

85528%2890 S
ave our number as *Sahaj Adhyayan* ... & message us on Wh
% n atsApp... Hi |
= ‘A



Design
Text Box
This Question paper shared by Prafull from Ahmednagar, Thanks Prafull.




